Subject: Re: fix(4.70*100) is... 469
Posted by David Fanning on Thu, 19 Apr 2007 18:52:16 GMT

View Forum Message <> Reply to Message

b_efremova@yahoo.com writes:
> What is wrong about this assumption of mine?

| don't think there is anything "wrong" about your
assumption, except that it doesn't reflect reality.
This is how most of us go wrong with assumptions.
We assume something is so that ain't so. :-)

Cheers,

David

David Fanning, Ph.D.

Fanning Software Consulting, Inc.

Coyote's Guide to IDL Programming: http://www.dfanning.com/
Sepore ma de ni thui. ("Perhaps thou speakest truth.")
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